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<latexit sha1_base64="JVM8PazboCAMIVwu4sbXkys8RGU="></latexit>
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⇢(�, t)

<latexit sha1_base64="2UiGJHfrChtQz3z97CKnafgFEmk=">AAACGXicbVDLSgNBEJyNrxhfUY9elgQhoiS7ougx6MVjBPOAbAy9s5NkyOyDmd5AWPIXHgRP+ifexKun/IhnJ4mCJhYMVFd1MU25keAKLWtspJaWV1bX0uuZjc2t7Z3s7l5NhbGkrEpDEcqGC4oJHrAqchSsEUkGvitY3e1fT/z6gEnFw+AOhxFr+dANeIdTQC3dO7IXFhyPCYQTPGpn81bRmsJcJPY3yZdzzvHDuDystLOfjhfS2GcBUgFKNW0rwlYCEjkVbJRxYsUioH3osqamAfhMtZLp1SPzUCue2QmlfgGaU/V3IgFfqaHv6k0fsKfmvYn4n9eMsXPZSngQxcgCOvuoEwsTQ3NSgelxySiKoSZAJde3mrQHEijqojLONJiUqkpPJQ8G3CtFEE2Gn2ZHuih7vpZFUjst2mfF81vd2BWZIU0OSI4UiE0uSJnckAqpEkokeSTP5MV4Ml6NN+N9tpoyvjP75A+Mjy+rvKQa</latexit>
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⇢(�, t)tdtR
⇢(�, t)dt

<latexit sha1_base64="01YJZh/zNg6VHEWUImYL23BwUx4="></latexit>
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<latexit sha1_base64="elEeRksSrsWqyPYKbNggmKykzCM="></latexit>
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<latexit sha1_base64="qUfDtpCfzWnd3TZ/eZ/weJUIb58="></latexit>

Crnkovic et al. doc-db 3477
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= 2.64µs

<latexit sha1_base64="JVM8PazboCAMIVwu4sbXkys8RGU="></latexit>

�!a
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= 50 ppb

<latexit sha1_base64="mYb2PsA3YR8ynbqRYfe6lbrRt2w="></latexit>
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��a = !a�t

<latexit sha1_base64="pP0adQj3wQgd8Hogv5/SeKgH9ts="></latexit>


